8.

9.

oo Year 3 Worksheet 2: Addition and Subtraction

Level: Beginner

THE POWER OF
KNOWING

.123+4 =7

.75-6=7

.53+21="7

. What is 100 - 20?

LAdd: 41 +32="7

. Subtract: 88 -17 =7

.59+11="7

What is 90 - 97

34+10="7

10. Estimate: Is 56 + 38 closer to 80, 90 or 1007

[Use the space below to work out your answers. Show all your working.]



9

oo Year 3 Worksheet 2: Addition and Subtraction

Level: Intermediate

KNOWING

. 267 +134="7

.346-128="7

. Add 83, 45 and 62.

. What is the missing number: 185+ = 3007?
. Estimate the sum of 123 + 279.

. Find the difference: 412 - 345 = ?

. Solve using column method: 379 + 246

. Solve using column method: 532 - 147

. Round and estimate: 168 + 237 ' ?

10.300-177="7

[Use the space below to work out your answers. Show all your working.]
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oo Year 3 Worksheet 2: Addition and Subtraction

Level: Difficult

KNOWING

.478 + 256 =7

.648 -329="7

. Write two numbers that total 500.

. Solve: 362 + 198 - 105

.Fillin: _ +143 =500

.234+ =689

. A shop sells items for '128, '256 and '117. What is the total cost?
A football stadium had 842 people. 389 left. How many stayed?

. Use inverse to check: 324 + 189 =513

10. Estimate and calculate: 342 + 487

[Use the space below to work out your answers. Show all your working.]



o /g Year 3 Worksheet 2: Addition and Subtraction
Level: Super Challenging

KNOWING

1. Find two numbers between 300 and 600 that total 900.

2. A baker made 765 buns in the morning and 482 in the afternoon. How many altogether?
3. A school library had 1,000 books. 267 were taken out. How many remain?

4,432 +298-159="7

5. A class collected '289. Another collected '164 more. How much in total?

6. Fill in missing: 298 + =794

7. Use estimation to check: 698 - 355 ' ?

8. Write a word problem for: 364 + 127

9. Solve: 500 - 125 + 89

10. A toy costs '256. You pay '300. What change do you get?

[Use the space below to work out your answers. Show all your working.]



